

### Pay Estimate Created Date: March 21, 2022

Final Estimate 6	Number			10521-G01 ranco Enterprises,	521-G01 Pay Perio nco Enterprises, Inc. Pay Perio				Original Contract Amount Net Change Order Amoun Current Contract Amount	<b>t</b> (\$16,071.80)	
Approval Date	al Date										
March 21, 2022				Generated and App	proved (and	d should be	e considered	Draft) at th	ne Project Office Level by	roeged1	
April 6, 2022			Revi	ewed and Approve	d (and sho	uld be con	sidered Draf	t) at the Re	esident Engineer Level by	holdto	
April 7, 2022				Re	viewed and	Approved	at the Cent	ral Office C	controllers Office Level by	ramses1	
Original Comp	letion D	ate	Current Cor	npletion Date	Actua	I Completi	on Date	% o	of Current Contract Amoun	t Complete	
November	1, 2021		Novemb	er 1, 2021	No	vember 1,	2021		100.00%		
	С	ontrac	t Informational E	ates	es			Milestones			
Date Descripti	ion C	riginal	Completion Dat	e Current Comp	Current Completion Date			No Milestones Exist for Contract			
Acceptance Date	N	larch 7,	2022	March 7, 2022	March 7, 2022						
Awarded Date	J	une 2, 2	2021	June 2, 2021	June 2, 2021						
Letting Date	N	lay 21,	2021	May 21, 2021	May 21, 2021						
Notice to Proceed	Date J	uly 6, 2	021	July 6, 2021							
Open to Traffic Da	ate										
Work Began Date	C	ctober	13, 2021	October 13, 202	October 13, 2021						
Contract Total Pa	y For Es	timate	No. 6								
				This Estimate			Previous		To Date		
210521-G01	Tot	al Poste	ed Items Pay	\$0.00	\$0.00			0	\$258,869.10		

210521-G01			
Total Posted Items Pay	\$0.00	\$258,869.10	\$258,869.10
Gross Item Adjustments	\$0.00	\$52.58	\$52.58
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damage	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
		<mark>\$258,921.68</mark>	\$258,921.68
Contract Total Payable This Estimate:	\$0.00		
Items Paid This Estimate Period			
No Data Available			

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item Adjustments This Estimate

No Data Available



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Informati	on						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J7P3370B	FAS S603(69)	ADA improvements	Various	BATES	at various locations in Bates County								
Totals by Jo	b Numbers	;											
J7P3370B		Item Pay tem Adjustmen	ts <mark>Gross Ite</mark> r	m Pay	This Estimate \$0.00 \$0.00 <b>\$0.00</b>	Previous \$258,869.10 \$52.58 <b>\$258,921.68</b>	To Date \$258,869.10 \$52.58 <b>\$258,921.68</b>						
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0020.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0010.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0030.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0040.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0050.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0060.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0070.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0080.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0090.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0100.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0110.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0120.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0130.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0140.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0150.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0160.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0170.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0180.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0190.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0200.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0210.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0220.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0230.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0240.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0250.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0260.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0270.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0280.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0290.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0300.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0310.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0320.	No Remark was entered by Engineer	roeged1	Unresolved



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0330.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0340.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0350.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0360.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0370.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0380.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 0390.	No Remark was entered by Engineer	roeged1	Unresolved
Estimate Exception Type: Incomplete Item Exception: Contract 210521-G01, Contract Line Item Number 5001.	No Remark was entered by Engineer	roeged1	Unresolved



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	port Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
10521-G01	J7P3370B	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.0
		0001	0020	2063000	CLASS 3 EXCAVATION	31.00	-2.00	29.00	CUYD	29.00	\$41.00	\$1,189.0
		0001	0030	2079903	MISC.LINEAR GRADING FOR ADA FACILITES	1,382.00	49.00	1,431.00	LF	1,431.00	\$44.00	\$62,964.0
		0001	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	824.00	-96.00	728.00	SQYD	728.00	\$11.00	\$8,008.0
		0001	0050	5021108	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	119.60	-19.00	100.60	SQYD	100.60	\$63.00	\$6,337.8
		0001	0060	6044011	PIPE COLLAR, TYPE A	2.00	0.00	2.00	EA	2.00	\$490.00	\$980.0
		0001	0070	6081010	CONCRETE CURB RAMP	99.50	-14.00	85.50	SQYD	85.50	\$120.00	\$10,260.0
		0001	0080	6081012	TRUNCATED DOMES	289.00	1.00	290.00	SQFT	290.00	\$34.00	\$9,860.0
		0001	0090	6086004	CONCRETE SIDEWALK, 4 IN.	568.90	-123.20	445.70	SQYD	445.70	\$64.00	\$28,524.8
		0001	0100	6086008	CONCRETE SIDEWALK, 8 IN.	29.00	61.00	90.00	SQYD	90.00	\$80.00	\$7,200.0
		0001	0110	6091052	CURB AND GUTTER TYPE B	18.00	0.00	18.00	LF	18.00	\$47.00	\$846.0
		0001	0120	6099903	MISC.MODIFIED TYPE A GUTTER WITH STEEL PLATE	10.00	-10.00	0.00	LF	0.00	\$960.00	\$0.0
		0001	0130	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-2.00	0.00	EA	0.00	\$580.00	\$0.0
		0001	0140	6161005	CONSTRUCTION SIGNS	440.00	-128.00	312.00	SQFT	312.00	\$7.00	\$2.184.0
			0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	-2.00	0.00	EA	0.00	\$87.00	\$0.0
		0001	0150	6161009	FLAG ASSEMBLY	4.00	-2.00	2.00	EA	2.00	\$29.00	\$58.0
			0170	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	100.00	\$23.00	\$2.300.0
		0001	0170					0.00	EA	0.00		\$2,300.0
		0001		6161033		5.00	-5.00				\$156.00	
		0001	0190	6161040	FLASHING ARROW PANEL	2.00	-2.00	0.00	EA	0.00	\$460.00	\$0.0
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.0
		0001	0210	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	10.00	2.00	12.00	EA	12.00	\$116.00	\$1,392.
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$38,000.00	\$38,000.
		0001	0230	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	11.00	0.00	11.00	LF	11.00	\$18.00	\$198.0
		0001	0240	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	73.00	-5.00	68.00	EA	68.00	\$210.00	\$14,280.0
		0001	0250	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	72.00	0.00	72.00	LF	72.00	\$3.50	\$252.0
		0001	0260	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	9.00	0.00	9.00	EA	9.00	\$17.50	\$157.
		0001	0270	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,300.00	\$2,300.
		0001	0280	7250412	12 IN. PIPE GROUP C	30.00	-10.00	20.00	LF	20.00	\$82.00	\$1,640.0
		0001	0290	7250415	15 IN. PIPE GROUP C	40.00	0.00	40.00	LF	40.00	\$85.00	\$3,400.0
		0001	0300	7250418	18 IN. PIPE GROUP C	22.00	0.00	22.00	LF	22.00	\$90.00	\$1,980.0
		0001	0310	7261012	12 IN. PIPE GROUP A	12.00	0.00	12.00	LF	12.00	\$82.00	\$984.0
		0001	0320	8031000A	TURF TYPE TALL FESCUE SODDING	637.00	323.00	960.00	SQYD	960.00	\$8.00	\$7,680.0
		0001	0330	8061006	ALTERNATE DITCH CHECK	136.00	0.00	136.00	LF	136.00	\$18.00	\$2,448.0
		0001	0340	8061016	SEDIMENT REMOVAL	19.00	0.00	19.00	CUYD	19.00	\$1.00	\$19.
		0001	0350	8061019	SILT FENCE	200.00	0.00	200.00	LF	200.00	\$3.50	\$700.
		0040	0360	9031010	CONCRETE FOOTINGS, EMBEDDED	4.60	0.00	4.60	CUYD	4.60	\$1,350.00	\$6,210.0
		0040	0370	9031280	2.5 IN. PSST POST - 12 GA.	528.00	0.00	528.00	LF	528.00	\$12.00	\$6,336.0
0040 0380 9031281 POST ANCHOR FOR 2.5 IN. PSST - 7 GA. 99.00 0.00 99.00						LF	99.00	\$60.00	\$5,940.			
		0040	0390	9035069A	SHF-FLAT SHEET FLUORESCENT	421.00	0.00	421.00	SQFT	421.00	\$21.00	\$8,841.
		0040	5001	7259903	MISC.PVC pipe for drainage under sidewalk	0.00	20.00	20.00	LF	20.00	\$70.00	\$1,400.



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Apr 8, 2022

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3370B	0030	MISC. GRADING	Overrun	Overrun	2	Nov 2, 2021	SYSTEM	(\$2,164.80)	
					4	Dec 1, 2021	SYSTEM	\$2,164.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',44.00000 - 44.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0030 -	Total						\$0.00	
	0040	TYPE 1 AGGREGATE	Price FUEL		1	Oct 15, 2021	SYSTEM	\$6.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE (4 IN. THICK)			2	Nov 2, 2021	SYSTEM	\$26.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Dec 1, 2021	SYSTEM	\$0.16	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$33.86	
			Price FUEL - T	otal				\$33.86	
	0040 -	Total						\$33.86	
	0050	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	Material		1	Oct 18, 2021	SYSTEM	(\$1,953.00)	
					2	Nov 2, 2021	SYSTEM	(\$6,337.80)	
				- Total				(\$8,290.80)	
			Material - Tota					(\$8,290.80)	
			MaterialCredit		2	Nov 2, 2021	SYSTEM	\$1,953.00	
					3	Nov 16, 2021	SYSTEM	\$6,337.80	
				- Total				\$8,290.80	
			MaterialCredit	- Total	_	_		\$8,290.80	
			Price FUEL		1	Oct 15, 2021	SYSTEM	\$5.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Nov 2, 2021	SYSTEM	\$12.95	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$18.72	
			Price FUEL - Total					\$18.72	
	0050 -							\$18.72	
	0060	PIPE COLLAR, TYPE A	Material		2	Nov 2, 2021	SYSTEM	(\$980.00)	
					3	Nov 16, 2021	SYSTEM	(\$980.00)	
				- Total				(\$1,960.00)	
			Material - Tota	ıl				(\$1,960.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$980.00	
					4	Dec 1, 2021	SYSTEM	\$980.00	
				- Total				\$1,960.00	
			MaterialCredit	- Total				\$1,960.00	
	0060 -	Total						\$0.00	
	0070	CONCRETE CURB RAMP	Material		2	Nov 2, 2021	SYSTEM	(\$9,900.00)	
				- Total				(\$9,900.00)	
			Material - Tota	d				(\$9,900.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$9,900.00	
				- Total				\$9,900.00	
			MaterialCredit	- Total				\$9,900.00	
	0070 -	Total						\$0.00	
_									



Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks									
J7P3370B	0090	CONCRETE SIDEWALK, 4	Material		1	Oct 18, 2021	SYSTEM	(\$4,550.40)										
		IN.			2	Nov 2, 2021	SYSTEM	(\$28,524.80)										
				- Total				(\$33,075.20)										
			Material - Tota	I				(\$33,075.20)										
			MaterialCredit		2	Nov 2,	SYSTEM	\$4,550.40										
					3	2021 Nov 16,	SYSTEM	\$28,524.80										
				- Total		2021		\$33,075.20										
			MaterialCredit					\$33,075.20										
	0090 -	Total	WaterialCreuit	- 10tai				\$0.00										
		CONCRETE	Material		1	Oct 18,	SYSTEM	(\$3,624.00)										
	0100	SIDEWALK, 8 IN.	Material		2	2021 Nov 2,	SYSTEM	(\$3,024.00)										
					2	2021	OTOTEM	(\$7,200.00)										
				- Total				(\$10,824.00)										
			Material - Tota	I				(\$10,824.00)										
			MaterialCredit		2	Nov 2, 2021	SYSTEM	\$3,624.00										
					3	Nov 16, 2021	SYSTEM	\$7,200.00										
				- Total				\$10,824.00										
			MaterialCredit	MaterialCredit - Total				\$10,824.00										
			Overrun	Overrun	1	Oct 18, 2021	SYSTEM	\$1,304.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 15 on the current Payment Estimate. Material Insufficiency Quantity 45.300; Overrun Quantity Balance 16.30.									
					1	Oct 18, 2021	SYSTEM	(\$1,304.00)										
					2	Nov 2, 2021	SYSTEM	(\$1,304.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).									
					2	Nov 2, 2021	SYSTEM	\$4,880.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 22 on the current Payment Estimate. Material Insufficiency Quantity 90.000; Overrun Quantity Balance 77.30.									
						2	Nov 2, 2021	SYSTEM	\$1,072.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.								
					2	Nov 2, 2021	SYSTEM	\$4,104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.									
					2	Nov 2, 2021	SYSTEM	\$2,024.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.									
					2	Nov 2, 2021	SYSTEM	\$1,304.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.									
														2	Nov 2, 2021	SYSTEM	(\$3,576.00)	
					3	Nov 16, 2021	SYSTEM	(\$13,384.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).									
					4	Dec 1, 2021	SYSTEM	\$4,880.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',80.00000 - 80.00000, 'is applied (if non-zero).									
				Overrun - T	otal			\$0.00										
			Overrun - Tota	1				\$0.00										
	0100 -	Total						\$0.00										
	0110	CURB AND GUTTER TYPE	Material		2	Nov 2, 2021	SYSTEM	(\$846.00)										
		В		- Total				(\$846.00)										

8



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3370B	0110	CURB AND	Material - Tota	I				(\$846.00)	
		GUTTER TYPE B	MaterialCredit		3	Nov 16, 2021	SYSTEM	\$846.00	
				- Total				\$846.00	
			MaterialCredit	- Total				\$846.00	
	0110 -	Total						\$0.00	
	0230	PREF THERMO PAVMT MARKING, 12	Material		2	Nov 2, 2021	SYSTEM	(\$198.00)	
		IN WHITE			3	Nov 16, 2021	SYSTEM	(\$198.00)	
				- Total				(\$396.00)	
			Material - Tota					(\$396.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$198.00	
					4	Dec 1, 2021	SYSTEM	\$198.00	
				- Total				\$396.00	
(	0000	T-4-1	MaterialCredit	- Total				\$396.00	
	0230 -		Mate 1.1		0	No. C	OVOTE	\$0.00	
	0240	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		2	Nov 2, 2021	SYSTEM	(\$14,280.00)	
		SU WITH MIDDL			3	Nov 16, 2021	SYSTEM	(\$14,280.00)	
				- Total				(\$28,560.00)	
			Material - Tota					(\$28,560.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$14,280.00	
					4	Dec 1, 2021	SYSTEM	\$14,280.00	
				- Total				\$28,560.00	
	0040	<b>T</b> -4-1	MaterialCredit	- I otal				\$28,560.00	
	0240 -		Material		0	Nov 0	OVOTEM	\$0.00	
	0250	6 IN. WHITE HIGH BUILD WATERBORNE	Material		2	Nov 2, 2021	SYSTEM	(\$252.00)	
		PAINT			3	Nov 16, 2021	SYSTEM	(\$252.00)	
				- Total				(\$504.00)	
			Material - Tota	l				(\$504.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$252.00	
					4	Dec 1, 2021	SYSTEM	\$252.00	
				- Total				\$504.00	
			MaterialCredit	- Total				\$504.00	
	0250 -	Total						\$0.00	
	0310	12 IN. PIPE GROUP A	Material		3	Nov 16, 2021	SYSTEM	\$984.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user deweyb overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	Nov 16, 2021	SYSTEM	(\$984.00)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0310 -	Total						\$0.00	
	0320	TURF TYPE TALL FESCUE	Material		2	Nov 2, 2021	SYSTEM	(\$720.00)	
		SODDING			3	Nov 16, 2021	SYSTEM	(\$7,680.00)	
				- Total				(\$8,400.00)	



Apr 8, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3370B	0320	TURF TYPE	Material - Tota	al				(\$8,400.00)	
		TALL FESCUE SODDING	MaterialCredit		3	Nov 16, 2021	SYSTEM	\$720.00	
					4	Dec 1, 2021	SYSTEM	\$7,680.00	
				- Total				\$8,400.00	
			MaterialCredit	- Total				\$8,400.00	
			Overrun	Overrun	3	Nov 16, 2021	SYSTEM	\$2,584.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 13 on the current Payment Estimate. Material Insufficiency Quantity 960.000; Overrun Quantity Balance 323.00.
					3	Nov 16, 2021	SYSTEM	(\$2,584.00)	
					4	Dec 1, 2021	SYSTEM	(\$2,584.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	Dec 16, 2021	SYSTEM	\$2,584.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',8.00000 - 8.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0320 -	Total						\$0.00	
	0360	CONCRETE FOOTINGS, EMBEDDED	Material		1	Oct 18, 2021	SYSTEM	\$2,268.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user deweyb overridding Payment Estimate Exception 11 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,268.00)	
					2	Nov 2, 2021	SYSTEM	\$6,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user deweyb overridding Payment Estimate Exception 17 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$6,210.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0360 -							\$0.00	
	0370	2.5 IN. PSST POST - 12 GA.	Material		1	Oct 18, 2021	SYSTEM	\$2,304.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user deweyb overridding Payment Estimate Exception 12 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,304.00)	
					2	Nov 2, 2021	SYSTEM	\$6,336.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user deweyb overridding Payment Estimate Exception 18 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$6,336.00)	
				- Total				\$0.00	
			Material - Tota	al 👘				\$0.00	
	0370 -							\$0.00	
	0380	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		1	Oct 18, 2021	SYSTEM	\$2,160.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user deweyb overridding Payment Estimate Exception 13 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,160.00)	
					2	Nov 2, 2021	SYSTEM	\$5,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user deweyb overridding Payment Estimate Exception 19 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$5,940.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0380 -	Total						\$0.00	
	0390	SHF-FLAT SHEET	Material		1	Oct 18, 2021	SYSTEM	\$3,213.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user deweyb overridding Payment



Apr 8, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3370B	0390	FLUORESCENT	Material						Estimate Exception 14 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$3,213.00)	
					2	Nov 2, 2021	SYSTEM	\$8,841.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user deweyb overridding Payment Estimate Exception 20 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$8,841.00)	
					3	Nov 16, 2021	SYSTEM	\$8,841.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user deweyb overridding Payment Estimate Exception 11 on the current Payment Estimate.
					3	Nov 16, 2021	SYSTEM	(\$8,841.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0390 -	Total						\$0.00	
J7P3370B	J7P3370B - Total								
Overall - T	Overall - Total								